HW#4 Trigonometry Word Problems			Name 						
HINT – Draw a triangle for each problem
1. Marshall rides a horse 70 feet down a straight slope from the top to the bottom of a hill. The slope makes a 39 degree angle to the flat ground. How many feet tall is the hill?



2. Ethan stands 24 feet from a tree. He places a straight stick on the ground at his feet, angles it up until it points to the top of the tree, and measures the angle as 41 degrees. How many feet tall is the tree?




3. Tyler is flying a kite and it gets stuck in a tree.  He is standing 13 feet from the base of the tree. His kite string forms an angle of 36 degrees with the ground. How much string did he have let out when the kite hit the tree?




4. While shopping at his local home improvement store, Chen notices that the directions for an extension ladder state, ”This ladder is most stable when used at a 75o angle with the ground.”  He wants to buy a ladder to paint a two-story house that is 26 feet high.  How long does his ladder need to be?



5. A person standing on a 340ft cliff is watching a ship sail in.  The ship is at a 62o angle of depression.  Draw and label triangles for each part below.
a. [image: ]How far was the ship from the base of the cliff?






b. After 5 minutes, the ship is 112 feet from the cliff.  What is the angle of elevation to the top of the cliff?



c. How far did the ship sail in that 5 minutes?



6. Find the missing side lengths.
[image: ][image: ]a.			                                                    b. 







7. A scuba diver is at the end of a 400ft rope tied to a boat at an angle of 68o
[image: ]
a. How far is the scuba diver below the surface        
of the ocean?




b. How far is the scuba diver behind the ship?	



c. If the rope is 500 feet, and the diver is at a depth of 300 feet, what is the angle of elevation from the diver to the boat?



8. [bookmark: _GoBack][image: ]
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Peter cannot figure out what he did wrong. He wrote the equation -
below to find the missing angle of a triangle. However, his
calculator gives him an error message each time he tries to O
calculate the angle. Q
(@)
Peter’s work:  cos 0= %36
Jeri, his teammate, looked at his work and exclaimed, “Of course your calculator

gives you an error! Your cosine ratio is impossible!” What is Jeri talking about?
And how could she tell without seeing the triangle or checking on her calculator?





